
Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 1 of 10

Adjustable U-Unit AssemblyRecommended Tools

Hardware Used

#2 Phillips Head Bit

#2 Phillips Screw Driver

Screw Gun

Tape Measure

Level

Hex Wrench

#8 x 3/4” Flat Head Wood Screws#8 x 1 1/4” Flat Head Wood Screws

#8 x 1 1/2” Flat Head Wood Screws

Package Contents

Bridge Top
Assembly

End Panel

Lateral File
Credenza

Desk Top
Assembly

Fixed Modesty
Panel 

Optional Modesty
Panel 

End Panel



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 2 of 10

Adjustable U-Unit Assembly
(continued)

Step 1
Position and Level all Units
  •  Position adjustable desk panel base and adjustable 	
     return panel base in desired location. The length of 	
     desk will determine the spacing of the two bases. 
  •  Level all units front-to-back and side-to-side
     by rotating adjustable glides.
  •  Units that share same worksurface are to
     be adjusted to same height. (Dim. “A”)

Modesty Panel

Desk Base

TOP VIEW

Return Base

Length of 
Modesty Panel

Length of 
Modesty Panel

“A”

“A”
Desk Base

Return Base



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 3 of 10

Adjustable U-Unit Assembly
(continued)

Step 2
Attach Fixed Modesty Panel
Position and Level all Units
  •  Position adjustable desk panel base 
and adjustable return panel base in desired 
location. The length of desk will determine 
the spacing of the two bases. 

  •  Check that unit is level
     front to back and side to side;
     adjusting leveling guides according

 •  Align all four 
    fastening brackets

  •  Engage interlocking bracket
     componets and lower panel
     for tight secure fit



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 4 of 10

Adjustable U-Unit Assembly
(continued)

Step 3
Attach Worksurfaces

  •  Carefully lower Desk 
     Top Assembly
      into place

Fasten understucture to adjustment columns 
using eight (8) #6 X 12mm socket head bolts, 
four (4) per side.
Note: Hand tighten only. Do NOT secure 
firmly at this point. 

Fasten understucture to adjustment column using 
four (4) #6 X 12mm socket head bolts.
Note: Hand tighten only. Do NOT secure firmly at 
this point. 

  •  Carefully lower Bridge Top 
     Assembly into place•  Flip bridge upsidedown and lay on a flat smooth    	

   surface. Fasten flat brackets to underside of  	
   bridge using four (4) #8 X 7/8” flat head
   screws per bracket.



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 5 of 10

Adjustable U-Unit Assembly
(continued)

Step 4
Connect Electrical Wiring

  •  Carefully lower Desk 
     Top Assembly into place

TOP VIEW

Dongle

To height control switch

Spin height control
switch into place

To any of the three
adjustable columnsTo Power

Outlet

To any of the
adjustable columns

To any of the
adjustable columns

Plug power cord into 
nearest power outlet

Column 2

Column 1

Column 3



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 6 of 10

Adjustable U-Unit Assembly 
(continued)

Step 5
Secure Worksurfaces To
Adjustable Height Columns

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Raise worksurface for easier
access to understructure  

Using hex wrench, tighten all machine 
bolts firmly to the three columns



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 7 of 10

Adjustable U-Unit Assembly 
(continued)

Step 6
Fasten Bridge To
Main Worksurface

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

•  Push worksurfaces together so  
   all surfaces and edges are tight 
   and flush to one another

•  While worksurfaces are being held
   firmly together, fasten brackets to under
   side to adjustment column using four
   (4) #8 X 7/8” flat head screws per bracket.

Leave 1/8” gap between  
front panels and modesty 
panel. Using a 1/8” spacer 
is recommended.

Step 7
Attach Modesty Panel 
(Optional) •  Fasten Modesty Panel to     

   Worksurface using #8 X 7/8”

   flat head screws



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 8 of 10

Adjustable U-Unit Assembly 
(continued)

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Step 8
Attach Wire Manager 
(Optional)

2 1/4”

approx.

Fasten flat bracket 
to inside of unit.

3 1/2”

approx.4”

2 1/4”

Attach wire manager
to underside of surface
and route wire accordingly

Fasten wire manager to 
bottom of worksurface

Attach wire manager
to underside of surface

and route wire accordingly



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 9 of 10

Adjustable U-Unit Assembly 
(continued)

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Step 9
Route Power Cord 
Through Wire Manager

Route power cord 
through wire manager

Attach magnet on 
wire manager to 
the flat bracket

Replace door and 
lower worksurface 
to desired height.



Installation Instructions
Flux

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Form No. INST-FL001
5/7/18

Page 10 of 10

Adjustable U-Unit Assembly 
(continued)

Step 10
Attach Credenza

Notice To Installers: Failure to comply with installation instructions will compromise the safety, durability and performance of this product, which may risk injury to the user of this 
product and/or diminish the product life cycle. Jasper Group assumes no liability in these instances.

  

 jsifurniture.com
800.457.4511

812.482.3204 O
812.482.1548 F

225 Clay Street / PO Box 231
Jasper, Indiana 47546

Fasten credenza to unit using 
L-brackets and #8 x 5/8” flat 
head screws

Adjust height of unit to be flushLevel unit front-to-back 
and side-to-side
     by rota ting adjustable glides.


